1~15: B BA(T5%) (BB A —EARR, EH-—BRLY, FERXFEH, Felhb T ba)

1. What is the domain of the functiorf (x) = x* +2x ?

Select the correct answer.
(A) (-0,0) (B) [0,0) (C) (-=,0] (D) (0, ©) (E) none of above.

2. What is the range of the functior (x) = x> +2x ?

Select the correct answer.
(A) (-00,00) (B) [0,0) (C) (-=,0] (D) (0, ©) (E) none of above.

?

3. A
Find the limit, lim YX* 42 -
X

X-0
Select the correct answer.
(A) 0 (B) 1 (C) 05 (D) 025 (E) none of above.

Find the limit, lim e *Inx=7?

X — 00

Select the correct answer.
(A) O (B) 1 (C) o (D) —oo (E) none of above.

1 , Xx<-1
Let f(x)=qax+b , -1<x<1.If f(x) iscontinuous on(—c o )then a+b= ?
2 , 1< X

Select the correct answer.
A 1 (B) 2 ©) 3 (D) 4 (E) none of above.

Find i Xsinx="7?
dx

Select the correct answer.
(A) xcosx (B) sinx+cosx (C) sinx+xcosx (D) cosx+xsinx (E) none of above.

Find isin(xz) =?
dx

Select the correct answer.
(A) cos(x?) (B) cos(2x) (C) xcos(x?) (D) 2xcos(x?)  (E) none of above.

it f(x)+x[f(x)] =10 and f@) = 2 find '@ =2

Select the correct answer.

16 8 16 10 10
A -— B -— (€)= O -= (E) —
(A) 13 ()13 ()13 ()13 ()13



10.

11.

12.

13.

14.

Find '[f XA/1+ x%dx = ?

Select the correct answer.

A 7 (B) g (®) g (D) 2 (E) none of above.

Find L xe *dx = ?

Select the correct answer.
(A) 0 (B) 1 (C) €' (D) 2e* (E)none of above.

. . = Jx 1
Find the absolute maximum value of the functfofX) = /X — §X on 0<x<9

Select the correct answer.

(A) O (B)g (C)% (D)g (E) none of above.

Find the area enclosed by the given cur¢s= x? — 4X and y=2X- NG

Select the correct answer.
(A) 9 (B) 18 (C) 27 (D) 45 (E)none of above

If f(x,y)=sin*(mx +ny),find f_(x,y)=2

Select the correct answer.
(A) 2m*cos@mx+2ny)  (B) 2mnsin(mx+ny) (C) 2n*cos@mx+ 2ny)
(D) 2mncos@mx+2ny)  (E) none of above.

Consider the following two statements.

(1) If F'(x)= f(X), then j f (x)dx =F (x) + C

) cf'—xj:f(x)olx: f (%)

Select the correct answer.

(A) (1) is correct but (2) is incorrect.
(B) (2) is correct but (1) is incorrect.
(C) Both (1) and (2) are correct.

(D) Neither (1) nor (2) is correct.



15. Let f(x)and g &) be two differentiable functions withf (x) > g x(, XU O . Consider the

following two statements.

d d
(1) d—xf(x)zd—xg(x), xdd

b b
(2) _[a f(x)dx = jag(x) dx , for every a<b

Select the correct answer.

(A) () is correct but (2) is incorrect.
(B) (2) is correct but (1) is incorrect.
(C) Both (1) and (2) are correct.

(D) Neither (1) nor (2) is correct.

16~20 : ABM(25%) (BMEV A —MEHER, R EHF LS, LBRHEHF05)

16.

17.

18.

19.

By definition, if f(-x)=-f (x) ,then f &) is called an odd function. Which of the
following functions are odd functions?

(A) |4 (B) x¥* (C)sinx (D) tarx (E) €.

If f(x)= Jx and g(x) =¥/1- x, which of the following statements are correct?

(A) fog(-7)=+2.

(B) The domain ofgo f X )is (—c,).
(C) gof@)=-1.

(D) g-g@®=0.
(E) Therangeoff of X )is (—o0,0).

Consider the functionf (x) =| x| ,xOO . Which of the following statements are correct?

(A) f(x) is continuous onld.

(B) f(x) is differentiable for everyx[0.
(C) f(x) isan even function.

(D) f(x) isanincreasing function.

(E) jf(x)dx:%x2+C.

Which of the following conditions are necessaryddunctionf & Yoeing continuous atx, ?

(A) )I(lrrl f(x) exists.

(B) f(x) is differentiable atXx,.



20.

(C) f(x%,) iswell-defined.
(D) )|(I1T)l( f(x)="f(x,).

(E) Iim f(x)= I|m f(X,).

X— Xo~

Which of the following equalities are correct?

A [.[ 0+ a(y)axdy = [ f()dx+ [ g(y)dy .
®) [ ], f(9-g(yyxdy = [ f(x)ax—[ g(y)dy.
© [[ o) Do(y)dxdy = [ f(x)dx ] g(y)dy .

O ['J Xy M,
a(y) [Ca(y)dy



ANSWER

1 2 3 4 5 7 10
A E D A B D D
1 12 13 14 15
Cc A A A B

16 17 18 19 20
C,D AC A C A, C,DE A/ B, C




